Seat No.

Subject Code: C321902

Subject Name: Material Science and Metallurgy
Time: 10.30 AM TO 12.00PM

Instructions:
Attempt all questions.

1.

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Date: 14-06-2017

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. U8l wal (Ascal.
Which Metal has the highest Melting Point

1. |A Iron B. Copper
C. Silver D. Aluminium
56 tld oll alcildle Wl cuR & ?

LA | et B. 1 auwR
C. | R D. | Aeym@an

The ability of the material to be drawn into wire is known as

2. | A Malleability B. Ductility

C. Hardness D. Toughness
WAl R aottcll 2¥ell ueLdetl oRtud o 58 B.

2. | A A3 B ssdl@dl
C. sl§Aal D 2533l
Permeability is a property of material.

3 | A Thermal B. Mechanical
C. Magnetic D. Chemical
ueldell wRon2udl oplud ealld K[P

3. | A |ada B. | M3ellsct
C. | RaRs D. 1 3@sa

Total atom of F.C.C.unit cell is

4. | A. 2 B. 4
C. 6 D. 1
F.C.C.oll Yz A i st uoll Avau dedl sl
C. S D. q
Which one of the following is Secondary bond?

5 A Dispersion bond B. Dipole bond
C. Hydrogen bond D. All of above
(1A 1l s oie otlaL B ?

Y. : :
A | Slauddet oiu B. | stadlet ot
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C. | slsglyet oiu D. | Gurell aitues [@Qscu
Which one is a chemical property?
6. | A Strength B. acidity
C. dielectric strength D. lustre
56 s VUil B
. |A | umed B. | a:lls1dl
Co | wrdley aumerl D Tuanste
Total number of atoms per unit cell in a BCC Structure.
7. | A 1 B. 2
C. 3 D. 4
B.C.C.oll (e At i st uQ ofl Ava 3ecll sl
9. | A | B |2
C. 3 D. ¥
Density of iron is
8. | A 7.87 B. 8.96
C. 11.34 D. 8.90
Alvisell dotcll R
¢. |A oo ¢.cs
C. a3y D. l¢.co
The percentage of carbon in cast iron is .
9. |A. |0.1t005 B. 05t01
C. 1t015 D. 1.5t06.7
s12 (et HL sl0leto] Yol sl d.
c. |A Joadlou B |oudlq
Colaedlau D lau el s
The lower critical point for all steel is .
10. | A. | 600°C B. 700°C
C. 723°C D. 913°C
Wl % WA 12 AR (B3lset W2 8,
0.| A | s00 B. | so0
C. |oe3 D. ] eas
The carbon content in steel containing 100% pearlite is
11. |A. | 0.8% B. 0.025%
C. 1.7% D. 6.67%
% ®ld 100% udiee uAA Aol vie sioloto] Yyuigl gl 8P
W[ A o % B. | 0.0?u %
C |9y D. 159
Which of the following structure is observed by Metallurgical microscope?
12. | A Macrostructure B. microstructure
C. Atomic structure D. nanostructure
uldgsils HIBsREU dd sl sA ulal aa 8?
.
A1 RE R5AR B. | wishl wsuR
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C. | AR5 psuR D- | el g5
Addition of Copper in steel, increases its

13. | A. weldability B. toughness
C. tensile strength D. corrosion resistance
ol WIAHL SlURe] YHIBL ctlRelHl wA Al AR A P

3. | A | a’ddldld 253l
C. | 3uBA ol D. | SRt @R USAL

Castironisa :

14. | A. ductile material B. elastic material
C. plastic material D. brittle material
512 (2l 8.

. [ A | ssesd HAldlaa scdls Hildlaad
C s wdldlaa D. | oflecdt wéldlact
The Product of a Blast Furnace

15. | A Pig iron B. Steel
C. Wrought iron D. Cast iron
GARR $Ra1-o] GeUlEat

. [A | ot audet B. | ¥dla
C. | Ae et size ulet
Melting point of iron is °C

16. | A 1131 B. 1712
C. 1539 D. 1601
Ueloll NSl W2 8 ?

5. [A 439 LI
C. lause D. | qs01
Tungsten improves of steel.

17. | A ductility B. corrosion resistance
C. weldability D. red hardness
goReal Rletoll 58 clletd YU 82

. [ A | deRedll A0t UlQAuUSAL
C. | addellelldl D |25 ducl®
In phase diagram, is on X-axis and ison Y axis.

18. | A temperature, composition B. composition, temperature
C. |time, temperature D. | temperature, time
%805 SLAUHHL X AUSU UR ol Y 35U UR SlA B.

. [ A 2RuR, s1dloflatet g8l alet, 2IURUR
Co ] aa, 2R D 2R, an

FesC is popularly known as

19. | A Pearlite B. Cementite
C. Austenite D. Ledeburite
(Rlet-s1008S (FesC) 5& ollost attHell ULHLoU A ANnvuA &

Qc. -

A. B. | RNawe

udlse
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C. | aReuse D. | &3oqjaese
Which of the following is a Surface Hardening Process
20. | A. Nitriding B. Annealing
C. Normalizing D. Tempering
oA Hiell 58 AF2L &Sl VAU B
R0. ALesgl(Sat AA(AoL
C. | alleusBol D | 21aRa
The Carbon content in Steel is
21. | A Above 2% B. Upto 2%
C. Below 0.8% D. Above 6.3%
Wl stoloto] Yl &°?
U A |z ll aur R %yl
C oz dl (R D. g3y ol aur
Brass is an alloy of
22. | A Copper & Tin B. Copper & Zinc
C. Copper & Nickel D. Copper & Aluminium
AETEN ol M3l B.
A | SluR ual dlet B. | slur wal Bs
Co | AuR wa [@sc D. 1 luR ual A@Ran
During Heat Treatment Process the very drastic quench is achieved by the use of
23. | A. Cold Water B. Oil
C. Brine D. Air
s(AdL 1 Hi Ul e HikauH
3. [ A 65wl B. | 2lset
C. WLSal D. sall
Which of the following statements are true for annealing of steels?
24 A. Steels are heated from 500°C to 700° | B. Cooling is done slowly and steadily
' C temperature
C. Internal stresses are relieved D. all of the above
Bletotl Aollellor W2 ol Aot s @Qulet ALY B?
A | @laa 500°C 2l 700°C dtuHA B | reuall aal el glcol saumt
R¥.
OIRH SRclHL wUIA B, wd B
C. | ool YU £ UA D D. | GuRell dH i
Steel with carbon is known as hypo-eutectoid steel.
25. | A. 0.8% B. Greater than 0.8%
C. Less than 0.8% D. None of above
BLEWYR 5SS RNAML stelatoll 2stalll of Yl
U A oy B. |o.cy ol au
C. lo.ex ol Ay D a8 ual <8l
The name of lens in microscope near the specimen is :
26. | A. Eyepiece B. Collector lens
C. Objective D. None of above
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HBSRSIUHL RURA ot(Bsoll Alo] ollM 8.

6. | A | s R sAs2? A™
C. | Quzsdla D. | Guretl Asugl o8l
The magnification of metallurgical microscope is .

27. | A below 20X B. 2000X to 20000X
C. above 20000X D. 20X to 2000X
udsils yeredsall Noe(l(E3elet war 0.

20, | A 20 4l 1A B. 2000 YL 20,000
The heardest known material is

28. | A. Ceramic B. High speed steel
C. Alloy steel D. Diamond
Well A uld 58 © ?

0. | A | RR@s B. | ste alls ¥l
C. |ada ¥l D- [ stanis
If objective has magnification of 300X and eye-piece has magnification of 10X than the total

29 magnification of microscope is

1A | 310X B. 3000X
C. 30X D. 10X
weBsdlals] Nooll(332let 300X wa wssUley Aoo{l(332l01 10X &lat Al, HIBSRSU of
s Noo{l(33alet aA.
RC. A B
' 310X ' 3000 X
C. |30x D. laox
The magnification of eye piece is 20X and objective is 40X. The magnifications of
30 Metallurgical microscope will be
A 60X B. 2X
C. 800X D. 20X
Aot sl Ul Roo(l(B3alot 20 X & ol BloBslalall 40 X B Al uldsiHls yguedls ol
Noo{l(3¥2let U B.
30. A
' SOX R X
C. | coox D. l20x
Bauxite is the ore of

31. | A copper B. aluminium
C. iron D. tin
dlsAlee A ol yoauug ®.

34, [ A AR B. | A@an
C | @t D. | Rat
Which material is used for making cooking utensils?

32. | A Stainless steel B. Aluminium
C. Cast iron D. BothA & B
Aol AR slotlelal M2 53 H2RAA duRlA B?

3R.

A | Reldu ¥l B. | A@an
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C. | siee et D. |AuaB oA
Components of Bronze are .

33. | A Copper & tin B. Copper & zinc
C. Copper & silver D. Copper & lead
oo otl Usl 8.

33. [ A | SluR & &let uR & olls
Co ] fluR & RcaR Dol awr & dls
C35 Mn75 steel has Carbon percentage.

34. |A. |35 B. 35
C. 0.75 D. 0.35
C35 Mn75 1A ML slolot of YHIRL % .

3%. | A 3. 34
C. |o.0u D. |03y
Car body is generally made from .

35. [ A Cast iron B. Wrought iron
C. Stainless steel D. Mild steel
512 ollsl Hl2eudl el clotlen 8.

3u. [ A | sle ARlel B | e
C | Redu ¥la D. | auses ¥a
Cartridge brass has % Copper and % Zinc.

36. |A. |70,30 B. 60, 40
C. 30, 70 D. 40, 60
5183103 GlLRAMI \ % cllo] A % Als &l BP

3s.|A 190,30 $0,%0
C. 130,00 D. 1¥0,50
Bronze is commonly used material for

37. | A bearing B. Pipes
C. sheet D. nut and bolt
Alods A UM A ol Aoituiell H duRd B,

30. A | &l WHW
C. oz D ole wa olee
Which of the following is an alloy of aluminum?

38. | A Gun metal B Y-alloy
C. Muntz metal D. Gilding metal
olAcuiedll 58 AR AuH ol Asiug & 2

3¢. | A | ol Redt B | y-ada
C. |ymRea D. | QoL Rect
For producing aircraft parts, is used.

39. | A Duralumin B. Mangalium
C. Hindalium D. All of above
AURs52oll @LOUoll GeUlEatHL oll GUALDL Ul B

3¢. -

A | syt B. | Adcllant
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C | @3cllan D | GuR ol ottt
40. | German silver has % of silver.
A 180 20
c. |o D. |50
ool RcclRML % RccRay sl B,
¥o.| A | co 20
Muntz metal contains copper zinc in ratio of
41. | A 40:60 B. 50:50
C. 20:80 D. 60:40
Yoo Ned Hi S1UR ua Alse] ymial e ?
¥. ¥0:50 Y0:uo
C. 120:0 D. | s0:¥0
35 C 10 G has
42. | A 0.35% Carbon B. guaranteed hardenability
C. 1% Manganese D. all of above
35C10G Hl
¥2. [A 03Uy st B Tatdatat ol wictdl
Co lay Ao GUR oll olEll %

Which of the following is an alloy of copper

43. | A Brass B. High speed steel
C. Y-alloy D. Duralumin
ol Act el 58 s1URe(l MAsttld & .

¥3. | A | aw stes als e
C. |yada D. | s¥@an
Bronze is an alloy of

44. | A Copper and Zinc B. Aluminium and Zinc
C. Copper and Tin D. Aluminium and Tin
ollos ol A8ty

¥¥. | A | SluR ual (s B. | AyfiRan ua (s
Co R U Ret D | AlcyMRan et Ret

45,

Which product is not normally made from aluminium alloy?

A. Foil for packing

B.

Pressure cooker

C. Electrical wire

D.

Machine bed

slAarell 58 dxq AHA A ARARaUH AAuH] olotdl otell

¥u, [ A | ABaL 1 Slsc B | QR gs2
C. | sAlpsd alaR D. | yallet Qs
is used as bearing metal.
46. | A. Gun metal B. Y-alloy
C. High speed steel D. Stainless steel
¥S. ol ARl Necdt d3l¥ Gualol aw B
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ool Ned Y-AdlA
C. oy adls ¥l D. | RaQu ¥l
Is not a plastic material.
47. |A. | ABS B. |PVC
C. HDPE D. Cork
A wdls Hedlac ol
¥o. | A | AollAn ULl
C. laadlls D. |35
Cermetis a material.
48. | A Composite B. metallic
C. Plastic D. ceramic
sRNe A Wlklaa ®
¥e. | A | stQonee B. | daclls
C. | wwdls Raudls
Rubber is used mainly for manufacturing of
49. | A gasket B. fuel tank
C. O- ring D. tubes and tyres
06l Hl2l el GuAlaL ofl clollaleHl auld B
¥e. | A | oude B. | syt s
C ARl D | eyt Al 2laR
is used for making shaft and axle.
50. | A. Mild steel B. Medium carbon steel
C. High carbon steel D. Dead mild steel
LSS Mol WSUEA lollelall HI2 ol GUAL AU B
wo. | A | wses ¥a B. | ABan stolet ¥Eet
C a8 stolot et D1 3s wwes ¥l
The Melting Point of Aluminium is
51. |A | 500 °C B 600 °C
C 660 °C D 780 °C
A A2uM of dcllolg 8.
ug. A oo °c $00 °C
C. lgsocc D. | wco°c
Compared to steel, aluminum has
52. | A higher strength B. higher hardness
C. higher machinability D. low corrosion resistance
Wletoll AuunHelHl Acyyojun YA B
UR. A | GRU HyHA G slotll
C. | oty nallaelcldl D. | Qs stz ulQAusdl
For cooking utensils, is used.
53. | A. Duralumin B. Mangalium
C. Hindalium D. All of above
U3. | RASell WAL HetleleltHL AuRA B.
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A sydg@et AAclan
C | B3cllant D. ot o
The percentage of Iron present in Pig Iron is
S A T99.9% B. | 90%
C. 95% D. 80%
(Aot telet 1 a2iat ofl 2stausl
wy. | A | eeey ¢0%
C leux D | cox
Which among the following is an Organic Polymer
55. | A. Silica B. Plastic
C. Brass D. Porcelein
(1A e2lact Higll 5¢ A3olls WAllHR B
uu (A R@st WRels
C o D. | QIlet
56. | Which of the following is an amorphous material?
A. Cast Iron B. Iron
C. Silver D. Glass
o(lAottriell 53y Hl3lact AR &2
us. | A | siee et (et
C | Rear D | ot
Reason for using non ferrous material is :
57. | A light weight B. good electrical conductivity
C. corrosion resistance D. all of above
allol 3 H23lad of GUlL sclle] 510 R
wo. [A | el eetg AR [Ayct cugscll
C. sle u[aSLQSdl D. GUR ol Kl %
is a thermo-plastic material.
58. | A. Polystyrene B. Melamine
C Urea formaldehyde D. Phenol formaldehyde
A licdéls 1ildlad B.
ue. | A adkezidlst NAHLEst
C. | ydlau AicSlslss D. | Qlollct QuicSlotes

Thermoplastics

59 A can’t be reshaped. B. can be used at high temperature
"~ | C. is produced by addition D. has cross linked structure.
polymerization.
Al ARELsa[
A | g3l stz otell 2udl astdl GRAU dlUHlal calusl asta &
ue. = 5 :
- | ASlatet WAlHR8MB2et ad - sl dlss esUR WRIA B

nocia 8

60.

Which among the following belongs to the class of Alloys

A

| Aluminium

| B. | Plastics
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C. | Fire Bricks | D. | Steel
(1A galac Higll 5¢ Mstuld 313 o &
so. | A | Ayfan B. | wauzdls
C. | stz oflsu D ¥l
Which of the following material is non-metallic?
61 A. Copper B. Silver
C. Steel D. ceramic
(1A g2dadc Hidl 58 Hillad uuld B.
s | A AR B. | Rear
C. | ¥a RRBs
What is the full form of P.V.C?
62. | A. Polyvinyl chloride B. Polyvinyl chlorine
C. Polyvinyl calcium D. Polyvinyl cement
ULl of y3 stn g B2
s2. | A [ Q@AQeusH sARESS WARQABAH sARISs
C | a@Qsuse dcaan D | Q@Qsusct @xNe
Is the semi-conductor of electricity.
63. | A Wood B. Plastic
C Silicon D. Rubber
A (Agcto] Ut clss B.
3. | A |auss WS
C. |R@3.t D. | 20012
To reduce wear of the surface IS used.
64. | A lubricant B. Adhesive
C. Abrasive D. colour
AUl YR detsal 1R AU B.
s¥. | A | gdllsee B. | AséRa
C. |RA3R« D. | s
Which one of the following is not the purpose of electroplating?
65. | A. improve appearance B. protect against corrosion
C. rework worn out parts D. improve hardness
ol ALl 58 ollold 8As2L- WASDL ol Be o2l olell ?
sW. | A | uilamt YuRl B | el R sl
C | uddeu edllett 31 Gullol D. | stdaemu yud
For production of powder of aluminium & tin, method is used.
66. | A. Reduction B. Electrolysis
C. Atomization D. Mechanical pulverization
ARARUH U Slotoll Ulasell catlazHl utddl auRia .
ss. | A | Assast B | sasgleuslla
C. | Admusdaet D. | M3ellsct uccrisPaust
67. | Which of the following is not an advantage of powder Metallurgy?
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A. Low capital cost B. Production of porous parts
C. Good dimensional accuracy D. No wastage of material
oAl 58 cllotcd was Redsloll Gulolldl U AstuAd oiell?

s9. | A | 3dlecdt Budo] oLy Het B. | Balg ewolell woticiz
C. | Rl uRBnuroll wlled D. | ydlflactel wous <18l
Polymerisation is associate with

68. | A. Stainless steel B. Cast iron
C. Silver D. Thermosetting plastic
WellHRgsBeet Aol A AsouAcl 82

sc. | A | Rel@u ¥t B. | size et
C | Rea D. | e lRARot weiéls
Which of the following is non-destructive test

69. | A Tensile test B. Impact test
C. Cupping test D. Radio graphy test

ol Aot il 5 ollot Sl2sdlal Uil & 2

se. | A Rl uilaw B | auaid udlaw
C. | sUlot udlawl D. [ 3R200u8l ulaw
The Percentage of Chromium in Stainless Steel Alloy
70. [A. [10% B. [12%
C. |18% D. |20%
R AU Wlet 1l sllaumo] Yyl ded sla d
90. | A |10 % B. a2 %
C lacy D. 1204
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